
         

 

Varianta 58 
 

III. 
13. a) 8 13 7 111⋅ + =  
      b) Cel mai mare num

�
r de trei cifre este 77613995 +⋅= . Deci sunt 69 numere. 

14. a) 3 9 ( 3)( 3)x x x x x− = − + �i 3 2 29 9 ( 1) 9( 1) ( 1)( 3)( 3)x x x x x x x x x+ − − = + − + = + − + . 

      b) Avem ecua�ia 1
1 +=+

x
x

x
111 22 =⇒=⇒+=+⇒ xxxxx  sau 1−=x . 

      c) S = 
1 1 1 1
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+ − + − + + − = 
51

8
. 

15. b) 10=+ rR  �i 4R r− = ⇒  7=R cm �i 3=r  cm. 
      c)  π79=V  cm3. 

      d) 
360

288
R

u u
G

⋅= ⇒ =
o

o o o , unde uo  este m
�
sura unghiului c

�
utat. 

 

 

            

 


